
I. THE MAN OF ROMANS 7 IS _____________ 

   A. Arguments for the Individual Being ____regenerate 

 

   B. Arguments against the Individual Being ____regenerate 

 

 

II. THE MAN OF ROMANS 7 IS A ____________ CHRISTIAN 

   A. Arguments for the Individual Being a __________ Christian 

 

   B. Arguments against the Individual Being a ___________ Christian 

 

 

 

III. THE MAN OF ROMANS 7 IS AN _____________ CHRISTIAN 

   A. Arguments for the Individual Being Under _____________ 

 

   B. Arguments _________ the Individual Being Under ____________ 

 

 

IV. THE MAN OF ROMANS 7 IS A _____________ CHRISTIAN 

   A. Arguments for the Individual Being a ___________ Believer in 

Romans 7:14-25 

   1. The ___________ tense is used throughout this section which 

contrasts with the _________ tense throughout the preceding section. 

 

 

   2. Paul’s view of the _____________ is given in 1:18-3:20. 

   3. Paul’s view of himself before _____________ is very different 

from this.  

   4. The will is directed towards the _________ throughout this 

passage. 

   5. The ____________ between will and action agrees with Paul’s 

broader view of the Christian life. 

   6. The Contradiction within Paul ______________ to the end of 

Romans 7. 

 

 B. ___________________ of Romans 7:14-25 

 

 

 

 C. Key ______________ from Romans 7:14-25 


